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B+1500m
K4 e S5 R =
1 =fE EE TAY—=vy - Z4R [deEE | 1500m | 3:39.35
2 stk #R2 ITEte YN iz | 1500m | 3:46.53
3 | LT7Y7 YYRER Z+ Lok (L | 5000m | 13:36.78 | iibEtikess
4 AIE B+t ITEte YN S8 | 1500m | 3:55.05 | iLElEEipHEE
5 e KM ITEte YN (iFL | 1500m | 4.02.55 | wiilEmikEEF
6 BH HE WAL B R WiEL | 1500m | 4.04.57 | iziseipHnEs
B+¥3000m
K4 e B8R B =
1 e mst ITEte YN ZyE | 5000m [ 14:29.52
2 A B B BT R ZE [ 5000m | 14:34.78
3 M IR B BT R ZE | 5000m | 14:36.04
4 hEE B BT R Z3E | 5000m | 14:49.37
5 KiE BBL EEER (iEL | 3000m | 8:30.36
6 A =R I Fpr K BEEY | 3000m | 8.32.65
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